o 2 & 2 2 & A
HI 5301 : 202148 18 12426 20211 128 31 2HK|
K52 71+ 2020 18 1282E 2020 1228 3120t

M RTASIANR O S50 (Eh2| : BHOLR)
ni; = =4 M 83 () Il Ml 52 (&) 21
.0 & A 29 279,604,799 236,806,988
.0 & & It 21 166,411,342 144,488,29%6
H.OHE S0 113,193,457 92,318,692
CHiHdI2k2teld] 21,22 61,559,601 56,324,816
v.g g ol ¢ 29 51,633,85% 35,993,876
JIEE &= < 23 2,205,695 1,384,068
JIEF HI 2 23 2,085,971 2,488,902
A=zdole 9 729,614 506,530
=38 = ¢ 24 8,543,187 12,267,600
=& H 2 24 7,704,554 11,318,055
V. gelMbIEXZEE=01Y 53,351,827 36,345,117
g ol Al & 25 13,444,377 9,937,285
VL.EJl=01Y 39,907,450 26,407,832
K1Y azF=X2 39,243,791 26,090,846
HIXIBHXIZ 663,659 316,986
ViL = & 0l & 26
JI=2=E0|2(El - &) 5,777 3,841
S|AZ=H0|2U(EHR - &) 5,777 3,841
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2 20214 128 312K
M52 01 : 2020 12 1L2E 2020 122 312K
ASEXIZ=AIS| AN O B2 (ES )
ot = = M 53 (&) 21 R 52 (&) 21

|, eiFe|=0l2 39,907,450 26,407,832
. 12D |EfE a0l 10,002,299 (3,673,905)
SERMOR CH)|20I0Z YEREX| o= T2H20! 2,508,106 1,788,764

1. JIEFEZE-DE IR 2SS AAE 20 6,20 2,980,8% 2,502,733

2. 201 & BSI 12| JIEFE=010) CHEH Xl 9,20 51,816 5,591

3. =SESURAU(RHAY HSHL 14, 20 (524,606) (719,560)
SERMOR P[220 YERE|= T2 7,494,193 (5,462,669)

1. 2HDIY & BSO149| DIEEZ=I0) THSH X2 9,20 160,163 (48,888)

2. HRAAIZBHALRIZEXIO| 20 7,283,620 (5,380,375)

3. H2SEQIESITIIHMAET I 20 50,410 (33,406)
Il EEZ20] 49,909,749 22,733,927

XD AREX2 49,037,912 22,374,398

HIXIBHXI= 871,837 359,529
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